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Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 78068113
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 780681301 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the nearest value of Neutral Grounding Resistance to be inserted in 3.3 KV/415V, 500 KVA, 3
Phase transformer to limit current to 750 mA.

Options :

1. ¥ 333 Ohms
2. # 500 Ohms
3. % 750 Ohms
4. % 100 Ohms

Question Number : 1 Question Id : 780681301 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

HC DI 750 mA TP T B B foIT 3.3 KV/415 V, 500 KVA, 3 Tl SRIBIFER H ST STH aTd e d
IRSfET ufRly &1 Fidhean 0 @1 32

Options :

1. ¥ 333 Ohms
2. % 500 Ohms
3. % 750 Ohms
4. # 100 Ohms

Question Number : 2 Question Id : 780681302 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the maximum value of earth fault current which shall be limited in open cast mines from 1100 V to
11 kV Volt system.

Options :
1. % 50A
2. % 30A
3.9 10A

4. % None of theses

Question Number : 2 Question Id : 780681302 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

;ﬁuﬁwm’zw 3B aH AT T g Sl 31U BRe WM | 1100 V I 11 kV dlee YurTelt de HfHd
|

Options :
l. % 50A



2. % 30A
3.+ 10A
4. % TR A DS ol

Question Number : 3 Question Id : 780681303 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

How much maximum voltage is allowed for Transmission in Under Ground Mine.

Options :

1. ® Upto 6.6 kV

2. % Upto 1.1 kV

3. ¥ Upto 11 kV

4. % Upto 3.3kV

Question Number : 3 Question Id : 780681303 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3R UISS W1z B iR & for sifreras faram diees &1 erAfa B
Options :

1. % 6.6 Hdl b

2. % 1.1hdl ddb

3.9 11 hdl db

4. % 33 Hdl dh

Question Number : 4 Question Id : 780681304 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

How much shall be the minimum earthing conductivity of a power cable to be used in underground Mines
Options :

1. ® 30% of its Largest conductor

2. #® 75% of its Largest Conductor

3. # 30% of its smallest conductor

4. ¥ 50% of its largest conductor

Question Number : 4 Question Id : 780681304 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YT GaM! § SUANT fhd S a1 faggd dad & gAaqd T aradmdr fbd-t i

Options :

1. % 3b Yo §S haaex Bl 30%
2. % D] 75% Y T&] hader
3. % 3P Y BIC Heaes BT 30%
4. ¥ b I TS Hedex B 50%




Question Number : 5 Question Id : 780681305 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the correct statement for Underground mine

Options :

1. # Lighting Voltage shall be 220V between phases

2. ® Lighting Voltage shall be 110V Between Phases

3. ¥ Lighting Voltage shall be 110V between phases with Mid point Earth

4. % None of these

Question Number : 5 Question Id : 780681305 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

AT e & T el &= 187

Options :

1. % TRON & oI YHIRI dlecst 220V BT

2. % TRON o &g YHIR dleeol 110V BRI

3. « Te foig gl arel IRUN & ofid UehTRI dleesl 110V g1
4. % ZTH Y BIS TET

Question Number : 6 Question Id : 780681306 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Maximum allowable lighting voltage in Open Cast Mines shall be
Options :

1. ¥ 250 V between Phase to Phase with Mid Point earth

2. #® 250 V between phase and Earth

3. % 250 V between Phase and Neutral

4. ® 250 V between Phase to Phase without mid point earthed

Question Number : 6 Question Id : 780681306 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3T B Wl 7 3ffYpan Wierl UsT=T dicest gim

Options :

1. ¢ O fdg gudl & 1Y =aR01 Y =RU1 & & 250 ot
2. % TROT R Gt & i 250 V
3. % RO AR T F &7 250 V
4. % fo=T e foig S1fdf1 & oR0T 4 TROT & &g 250

Question Number : 7 Question Id : 780681307 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



What shall be the maximum allowable value of Earthing system for Electrical substation.
Options :

1. ¥ Two Ohms

2. % One Ohms

3. % 3 Ohms

4. % None of These

Question Number : 7 Question Id : 780681307 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faggd qawe e & fa a1 gumelt o1 siftiedw Wi Jea T g
Options :

1. ¥ Two Ohms

2. % One Ohms

3. % 3 Ohms

4. % TAH A PIS 8!

Question Number : 8 Question Id : 780681308 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

For a system of voltage not exceeding 650V, the earthing installation shall be tested for resistance at least
Options :

1. * Once in every 6 Month

2. # Once in every quarter of year

3. % Once in a year

4. % Once in two years

Question Number : 8 Question Id : 780681308 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

650V T 3ffYp dieest aral Riier & forg, siffi Swetaw= &1 oA T &1 UfeRIY & forg uieor fosar sraam
Options :

. ¥ W6HHHTH IR

2. % 94 &I AP faHTel § Th aR

3. % gIdH TP R

4. ¥ G IAH TP IR

Question Number : 9 Question Id : 780681309 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A single phase transformer has specification as 250 KVA, 11000V/415V, HZ, what are the values of primary
and secondary current.

Options :
1. % 22.7,602.4 A



2. % 602A,22.7A
3. % 301A,22.7A
4. % 11.4A,301A

Question Number : 9 Question Id : 780681309 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

U Uehd R0 CRBIR &1 f[ARIFAT 250 KVA, 11000V/415V, HZ §, TTdTHe 3R fgdiae 4Rt & a4 &
gl

Options :

1. % 227,6024T

2. % 602U, 22.7T

3. % 301T,22.7€

4. 11.4Y,301T

Question Number : 10 Question Id : 780681310 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Capacity of battery is measured in

Options :

1. % Ampere

2. ¥ Coulomb

3. % Ampere-hour
4. ¥ Watt-hour

Question Number : 10 Question Id : 780681310 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

STt T &HdT AT ST §
Options :

|, % THRR

2. % Hald

3, % TR °¢

4. ¢ gIc °e

Question Number : 11 Question Id : 780681311 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Find number of poles required, when frequency is SOHZ and synchronous speed of the motor is 500rpm
Options :

l.*5

2. %10

3.912



4. % 24

Question Number : 11 Question Id : 780681311 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3{TIRGSH WHI P TSAT T HIFTY, S SMIRT SOHZ B 3R HIeR B! JeadbIieid A 500rpm &
Options :

1. %5

2. %10

3.¢¥ 12

4. % 24

Question Number : 12 Question Id : 780681312 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

LT cables are manufactured with rated voltage of

Options :

1. %230V

2. %400V

3. % 650V

4. % 1.1V

Question Number : 12 Question Id : 780681312 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TAd! B BT FATI S diees & 1Y fHar Srar g

Options :

1. % 2304l
2. % 400t
3. % 650l
4.4 1.14d1

Question Number : 13 Question Id : 780681313 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Guy wire is employed for

Options :

1. ® Providing protection against surges

2. #® Providing emergency earth route

3. % Supporting the pole

4. % All of the above

Question Number : 13 Question Id : 780681313 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25
T3 IRR BT IUANT b S &

Options :

1. % IO & (o Y& UGH Bl
2. % JMUTABTAH gedl A1 Ue v
3. ¢ T BT ERT

4. % FI b I

Question Number : 14 Question Id : 780681314 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A 2.5 MW micro oven at 230V,0.8 PF draws a current of approximately

Options :

1. % 11.5A

2. % 125A

3.9 135A

4. % 145A

Question Number : 14 Question Id : 780681314 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

230V,0.8 PF TR 2.5 BT T HISh! 3Nd AHT e Jiadl §
Options :

1% 11.5A

2. % 125A

3. 135A

4. % 145A

Question Number : 15 Question Id : 780681315 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A current transformer (C.T.) Having ratio 2000/5 is connected in series to a circuit whose load current 1200
amp. What will be the C.T. secondary current.

Options :

1. % 3 amp
2. % 5Samp
3. % 2.5amp
4. % 10 amp

Question Number : 15 Question Id : 780681315 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TP YR ABIER (1.8 Rt 3raTd 2000/5 8, 48 H T T8 "idhe 9 981 § o R 4RI 1200
amp g | 1.3}, 1 grile feciiae e,



Options :

1. ¥ 3 amp
2. % 5amp
3. % 2.5amp
4. % 10 amp

Question Number : 16 Question Id : 780681316 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The lightening arrestor in an electrical system is connected.

Options :

1. # Between line & neutral

2. ® Across line conductor

3. % Between line & earth

4. * None of these

Question Number : 16 Question Id : 780681316 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fagga ol & argef i sRwR JST AT B

Options :

1. % Qe 3R ggd & arF
2. % Tehig 134 Hedex

3.« A3 3R 3f & "
4. % STH GBI TaI

Question Number : 17 Question Id : 780681317 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A 12 Volt battery is connected in closed circuit with resistances of 1, 2 & 3 ohms connected in series. The
current following in the circuit is

Options :

1. #® 20 amps
2. % 2 amps
3.9 1 amps

4. % None of the above

Question Number : 17 Question Id : 780681317 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T 12 dlee BT 9t g Ffohe H 1, 2 3R 3 ohms b TR & A1 §aa H IS g3 & | uRkuy o
BEINITERRINE

Options :

1. % 20 THRR



2. % 2 THRR
3. ¢ | THRR
4. % ZTHY DI T8I

Question Number : 18 Question Id : 780681318 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In Case of earth fault in any circuit the megger will indicate

Options :

1. ¥ Zero

2. % 50 mega ohm

3. # Infinity

4. % 1 mega ohm

Question Number : 18 Question Id : 780681318 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fopaft off Afche o 31 Wice & AW & TR Havd &M
Options :

1. ¥ g

2. % 50 T 3H

3. % 3Hd

4, % | T 3

Question Number : 19 Question Id : 780681319 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The purpose of oil in the tank of Transformer is

Options :

1. # to insulate the winding

2. ¥ to dissipate heat developed

3. # to quench the spark, if any

4. ¥ all of above

Question Number : 19 Question Id : 780681319 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SRIBTHR & ¢ H 9 BT 35=T §

Options :

1. % TS ol SYAT HH & oy

2. % TH{ DI Y B & forg fasRid fovar
3. % fIRY, Al ®IS 81, 31 g1 & ferg

4. ¢ IWRad gt




Question Number : 20 Question Id : 780681320 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The distribution transformer is generally connected in ...

Options :

1. # Delta/Delta

2. ¥ Delta/Star

3. # Star/Star

4. * Star/Delta

Question Number : 20 Question Id : 780681320 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faeRU1 SRIBTER A IR W ... A JST eI 8

Options :

1. ¥ Secl/Sed]

2. ¢ SWIRCR

3. ® dRI/dRI

4, % WR/SI

Part B

Section Id : 78068114
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
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Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 780681321 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

If a DC 240 V is connected across 240 ohm resistance the power of the load is......

Options :

1. ¥ 240W

2. % 1W

3. % 10W

4. % 430W

Question Number : 21 Question Id : 780681321 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

gfe Th DC 240 V BT 240 3 UfaRIY T SST ST 8 l dls I Afdd . ...
Options :

1. ¢ 240W

2. % W

3. % 10W

4. % 480W

Question Number : 22 Question Id : 780681322 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Star Delta started technique of motor is not permissible in

Options :

1. #* high speed induction motors

2. # Low speed induction motor

3. ¥ Single phase motors

4. # Low horse power motors

Question Number : 22 Question Id : 780681322 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

e Y TR Ieel URY dh1e & Al T8l §
Options :

1. % I 7fd OROT Hiex

2. % HH I Tl URUT AR
3. ¢ Udhdl oRUI HIeY

4. % HY Y UIaR &I Ales

Question Number : 23 Question Id : 780681323 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of Zero 0 Hazardous Area in Mine.

Options :



1. # Hazardous atmosphere continues Present.
2. ® Hazardous atmosphere likely to occur in Under Normal operating conditions.
3. # Hazardous Atmosphere Not Present.

4. ¥ Hazardous Atmosphere Likely to occur in abnormal operating conditions.

Question Number : 23 Question Id : 780681323 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Te™ H R 0 TRAD & BT 1 Haad 52

Options :

1. % TaRATP AR ORI B

2. % Y yRETe fRUfSa § WaR-1e araeRu 814 &t SHIET 8 |
3. % WIS AR HIN[E 8 6.

4. « FARATH AR STHY TR fRUfadl & g4 &t HTaT|

Question Number : 24 Question Id : 780681324 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the maximum allowable voltage limit for signaling in Underground coal mine

Options :

1. % 12V

2. % 110V

3.¥930V

4. %24V

Question Number : 24 Question Id : 780681324 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YfRTd Hiaar WaH | Rufei & forg sifiiedd wWier diecst AT a1 82
Options :

1. % 12V

2. % 110V

3.930V

4. % 24V

Question Number : 25 Question Id : 780681325 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The Number of slip rings in slip ring induction motors.

Options :

1. ® Two

2. % Three

3. ¥ Four



4. ¥ None

Question Number : 25 Question Id : 780681325 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

{19 1 S5avr Hick # &y 1 bt T |
Options :
1% Q)
2./ dH
3. % 9gR

4. % DI Tol

Question Number : 26 Question Id : 780681326 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the most suitable motor for a Electrical Loco

Options :

1. # DC Shunt Motor

2. % DC Series Motor

3. % DC Compound Motor

4. % AC slip Ring Motor

Question Number : 26 Question Id : 780681326 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fagyd die! & folu Tad Iugad Hiex & I g2

Options :

1. % SIt e Hiex

2. ¢ ST AR A’
3. % SN HUSE Al
4. % T ey T diex

Question Number : 27 Question Id : 780681327 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is correct statement for isolator and Breaker.

Options :

1. ¥ Isolator is operated in offload and Breaker in On load

2. ® Isolator and breaker both are operated in On load

3. # a & B both Correct

4. % 3 & b both in Correct

Question Number : 27 Question Id : 780681327 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25
3{TSHICIER 3R SR & oY T U= T 62

Options :

1. ¢ 3SR B Thals H 3R g6 DI 31 dls H Jaferd frar Srar g
2. % JTETICR 3R B g 319 Ars H TaTferd gid &

3. % TR AT GHl Uel §

4, % aﬁ?baﬁﬂﬁ%

Question Number : 28 Question Id : 780681328 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is maximum allowable voltage to be used in Electrical Loco in Underground

Options :

1. # 1100V

2. % 6.6kV

3.9°650V

4. % 440 V

Question Number : 28 Question Id : 780681328 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YR # faqgd ool H SUTT & fofU Stferbad e dlees &l g2
Options :

1. % 1100V

2. % 6.6kV

3.9°650V

4, % 440V

Question Number : 29 Question Id : 780681329 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the minimum allowable resistance of 6.6 kV Motor when tested with 2.5kV DC insulation tester
Options :

1. ®* 1 Mohms

2. #* 10 Mohms

3. # 50 K Ohms

4. ¥ 5 Mohms

Question Number : 29 Question Id : 780681329 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

2.5kV DC SR TRI&d o 1Y TRIEUT R IR 6.6 kV HIER BT FATH WD TfoRie 1 §

Options :



1. ¥ 1 Mohms
2. # 10 Mohms
3. # 50 K Ohms
4. ¥ 5 Mohms

Question Number : 30 Question Id : 780681330 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What are not true for winders

Options :

1. % Drum Winders have Tail rope protections

2. ® Friction winders have Tail Rope protections

3. # Both have Tail Rope protections

4. ® None have Tail Rope protections.

Question Number : 30 Question Id : 780681330 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

arEsd & fore s g 8t 82

Options :

1. ¢ gH e feadugRan gt @
2. % YU ESY H ¢ AU QRAT e §
3. % g A A AU IRET G

4. % fHdt & UMY T T JRafm T 3|

Question Number : 31 Question Id : 780681331 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is true for Winders

Options :

1. # Friction winders have Rope slip Protections

2. % Drum winders have rope slip protections

3. ¥ Both A & B are correct
4. % None of the above

Question Number : 31 Question Id : 780681331 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

CIEEREARNLEIR R

Options :

1. % g argey o Tt ey gRen gt 8
2. ¢ g arge] § & U Ren g R
3. % TR S SHI g &



4. % AU Y pis o T8

Question Number : 32 Question Id : 780681332 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of Motor cannot be used for Winders

Options :

1. #® Synchronous Motors

2. % DC Series Motor

3. % Slip Ring Motors

4. # DC Separately Excited Shunt Motors

Question Number : 32 Question Id : 780681332 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

sy P T g PR P Aex &1 ST g! fhar 51 Iahdi 82
Options :

1. % Riprrg Ared

2. « SR AR Hiex

3. % &y for Aed

4. % S} 3T ¥ IR e Aled

Question Number : 33 Question Id : 780681333 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What shall be the value of lightening arrester to be used in 11 kV transmission line

Options :

1. * 11kV

2. ¥ 9kV

3. % 10kV

4, ® 15kV

Question Number : 33 Question Id : 780681333 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

11 dl SR WIS H SUINT fbT S dTed ATSCHT 3RECER T Hcd =T B
Options :

1. % 11kV

2. ¥ 9kV

3. % 10kV

4. % 15kV

Question Number : 34 Question Id : 780681334 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25

If a oil filled transformer is operated continuously on full load maximum temperature rise will be in
Options :

1. # Oil

2. ¥ Winding

3. % Tank

4. * Conservator

Question Number : 34 Question Id : 780681334 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

e 7 ¥ UR SRIBTHR DI AR A A8 IR IarT SiTE al SHfIbad arae™ § gig grft

Options :

1. % qd

2.« JHUA
3. %

4. % IGAATCl

Question Number : 35 Question Id : 780681335 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

As per CEAR, 2010 what shall be the minimum frequency of checking of earth pit resistance values
Options :

1. # Once in One year

2. ® Once in Six months.

3. ¥ Once in Two years

4. * Once in three Months

Question Number : 35 Question Id : 780681335 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TIRUSMR, 2010 & TR 34 e UicRie Gl &1 Sifd &t Aad Mgl o1 gl

Options :

1. % T a8 § Uh §R
2. % Bg o H U R,
3. ¥ A A A TH IR
4, % A AEH H UPH IR

Question Number : 36 Question Id : 780681336 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the maximum utilization voltage inside underground mine.

Options :



1. ¥ 6.6kV
2. % 11kV
3. % 3.3kV
4. % 1.1kV

Question Number : 36 Question Id : 780681336 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YFERTd WeH & 3iex SHTISHTH ST diecs T 82
Options :

1. ¥ 6.6kV

2. % 11kV

3. % 33KV

4. % 1B

Question Number : 37 Question Id : 780681337 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the Voltage rating of 440 V LV power cable.

Options :

1. % 500V

2. % 440V

3. % 1000V

4. ¥ 1100V

Question Number : 37 Question Id : 780681337 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

440 V LV UTGR $ad Bi dlecol AT 182
Options :

1. %500V

2. % 440V

3. % 1000V

4.4 1100 V

Question Number : 38 Question Id : 780681338 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a three phase motor if two phases are reversed then

Options :

1. ¥ Motor will run in reverse direction

2. * Motor will Stop

3. % Motor will Burn



4. % None of the above

Question Number : 38 Question Id : 780681338 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

M TS AR § Ife <Y e Iae Ry o §
Options :

1. ¢ AR Jec! fa=m H gt

2. % Hiex §g gl St

3. ® A 5d SR

4. % 3T Y HIs o T8

Question Number : 39 Question Id : 780681339 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is Intrinsically safe circuit

Options :

1. # It will work with low voltage ignite the gas around it

2. ¥ If it get short circuited spark cannot ignite the gas around it

3. ® High voltage circuit
4. % None

Question Number : 39 Question Id : 780681339 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3R U | YRIgd ihe 72

Options :

1. % gg &l dlceol P 1Y (U YT P T I Yodierd b bl BTH BT

2. i 3T TS Fihe 81 91T & oY TR} 39 MUy &1 19 1 Usaferd gl &R Fobdl §
3. % gI3 diceol gfdhe

4. % ®I Tol

Question Number : 40 Question Id : 780681340 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the colour code of 5 cores of trailing cable

Options :

1. # Red,black, blue are as phase and yellow pilot and green as earth

2. #® Red,blue,green are as phase and black pilot and yellow as earth

3. ¥ Red,yellow,blue are as phase and black pilot green as earth

4. % None

Question Number : 40 Question Id : 780681340 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25
e Had & 5 BR BT T HIS T 52

Options :

1. % T, BT, e TR01 & JHH SR a1 Urde 3R 831 & & 974 §
2. % QTd, QT 81 °R01 & GHM 3R BTl Urgae 3R ial geat & I9H §
3. « Td, Hiar, e TR0 & UM 3R BT Iraee g1 gdl & THH ¢

4. % DI Q!

Question Number : 41 Question Id : 780681341 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In 440V, 3PH system the full load current of 40HP motor is

Options :

1. % 40A

2. % 50A

3. ¥ 56A

4. % 65A

Question Number : 41 Question Id : 780681341 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

440V, 3PH f%ecH # 40HP HIeX &1 Hd Al B BIdl &
Options :
1. % 40A
2. % 50A
3. ¥ 56A
4. % 65A

Question Number : 42 Question Id : 780681342 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In Dash pot type overload relays the time delay is adjusted by

Options :

1. # Providing thick oil

2. ¥ Adjusting the striker plate position

3. # Providing thin oil

4. ¥ not filling with oil

Question Number : 42 Question Id : 780681342 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

S Ui UhR & 3Rl R & 977 fadid &) fhass gR1 gariford favan siar g2

Options :



1. % eI dd IuAsy HRIAT
2. ¢ LRHR WK Bl R ol FHRNTSTT BT
3. % adl dd SUAs Bl

4. % O ol YT

Question Number : 43 Question Id : 780681343 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a 3PH 550V AC system the voltage between two phases and the voltage between phase and earth
Options :

1. # 317.5V, 550V

2. ¥ 550V, 317.5V

3. % 550,230V

4. % 550V, 275V

Question Number : 43 Question Id : 780681343 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3PH 550V AC e & €1 TRUT & &9 diecs] 3R °R0T 3R Gt & &g dleest
Options :

1. % 317.5V, 550V

2. ¥ 550V, 317.5V

3. % 550,230V

4. % 550V, 275V

Question Number : 44 Question Id : 780681344 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Trailing cable used in underground along with drill machine is

Options :

1. # Individually screened 5 core cable

2. % collectively screened cable with 5 cores

3. # unscreened cable with 4 cores

4. ¥ Unscreened cable with 5 cores

Question Number : 44 Question Id : 780681344 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fea =i & Ty YftrTd & el e &1 IuanT forar ST 8

Options :

1. % T 0 Y ThiA I 715 5 DR Had
2. % 5HR & Ay YHeH ©T F Thi- & T3 Hhad
3. % 4 DR b 1Y TXhH had




4. ¢ 5 DR P GIY TGP Had

Question Number : 45 Question Id : 780681345 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The Trailing cable used for GEBs in UG mines must have

Options :

1. ¥ 5 cores

2. % 3 cores

3. ® 4 cores

4. % 6 cores

Question Number : 45 Question Id : 780681345 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

ol @aH! H Sfigel & e IuanT &t o areft 2feitT haret gt Tnfee

Options :

1. 5PR
2. % 3BR
3. % 4 PR
4. % 6PR

Question Number : 46 Question Id : 780681346 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is M.C.B.

Options :

1. # Minimum circuit breaker

2. % Miniature circuit breaker

3. % Monitoring circuit breaker

4. % None

Question Number : 46 Question Id : 780681346 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

ee=c e e
Options :

1. % gAqH Ffdhe s
2. ¥ TY Afdhe g

3. % AR dfhe Jhx
4. % PIs 8!

Question Number : 47 Question Id : 780681347 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25

The pilot circuit voltage of a GEB used in Underground mines is
Options :

1. ¥ Not to exceed 30 Volts

2. ®¥ More than 30 Volts

3. # Not to exceed 15 volts

4. % Not to exceed 8 Volts

Question Number : 47 Question Id : 780681347 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YT We! # TRad GEB &1 URide Wfdhe dlees §
Options :

1. ¢ 30 dice 9 3P Tal

2. % 30 dice ¥ 3R

3. % 15 dlec O 3P Tal

4. % g diec I AP Tal

Question Number : 48 Question Id : 780681348 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a star delta starter, the main contactor and the star contactor will be mode "ON" during starting of motor.
Options :

1. ¥ Yes

2. % Any one

3. % No

4. % a&b

Question Number : 48 Question Id : 780681348 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

W Sl WKk H, Hie? R= 8 & SR T YU 3R TR Judardl g 1re J g
Options :

1.8l

2. % @ig ot

3. % qgl

4. % AR

Question Number : 49 Question Id : 780681349 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the use of pre start alarm

Options :



1. ®* Warning while machine is running
2. ¥ Warning before starting of machine
3. # To start motor

4. ¥ Warning during fault

Question Number : 49 Question Id : 780681349 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

ot %eTe S T T SUENT 72
Options :

1. * O I & SRM Iara-r

2. ¢ TRI A1 A W Ugd AdaH!
3. % IR AT P & g

4. % TS & SR ara-!

Question Number : 50 Question Id : 780681350 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In underground mines the minimum Insulation resistance of the entire system to be maintained at
Options :

1. # 1 Kilo ohm

2. % 100 Kilo ohm

3. ¥ 1 Mega ohm

4. % 10 Kilo ohm

Question Number : 50 Question Id : 780681350 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YETd weH 4 OR Riked &1 a9 3ga= UicRIY ST 38T S 91 ¢

Options :

1. #® 1 Kilo ohm
2. # 100 Kilo ohm
3. ¥ | Mega ohm
4. # 10 Kilo ohm

Part C
Section Id : 78068115
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 30



Number of Questions to be attempted : 30

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 78068115
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 780681351 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In SF6 circuit breaker, SF6 means

Options :

1. # Sulphuric Acid

2. % Sulpher Hexa fluoride

3. # Sulpher Hexa Chloride

4. #* Sulfied

Question Number : 51 Question Id : 780681351 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SF6 Gfdhe shR |, SF6 T 3 §

Options :

1. ¥ TiYdH BT dolld

2. ¢ TH g FIRISS
3. % R gl FRISS
4. ® Hhlgs

Question Number : 52 Question Id : 780681352 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The main advantage of use HRC fuse in a circuit

Options :

1. # They are compact

2. # Easy to fix

3. % When it blown the spark will be extinguished internally
4. % None of this

Question Number : 52 Question Id : 780681352 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fthe T TSR WISl o SUANT &1 J&T AT

Options :
1. % IPpIWaT g
2. % 3% BT A §



3. ¥ 39 Wb IR RITRY 3R 8 3fax T3 S
4. % I BIS 6

Question Number : 53 Question Id : 780681353 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is voltage level of lighting voltage in underground mines

Options :

1. ¥ 110V (PH-PH) with mid point earth

2. % 110(PH-Earth)

3. % 24V (Ph to Ph.)

4. % 10 Amps

Question Number : 53 Question Id : 780681353 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YfRTd WMl # UehTRT dleesl & dleesl W) 31 82
Options :

1. ¢ 110V (PH-PH) % fdg gdl & q1y

2. % 110(UIUT-gea)

3. % 24v (Uiug ¥ Uiva)

4. % 10 THRR

Question Number : 54 Question Id : 780681354 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Purpose of NGR in Transformers

Options :

1. % To limit the fault current

2. # to improve the voltage

3. # to improve the power factor

4. % Improve the power

Question Number : 54 Question Id : 780681354 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SRIBIR H TTSNSR &1 364
Options :

1. ¢ Tice B P JIHd B & g
2. % glecs T YR D & g

3. % UTR Thaex H YR PR & fog
4. % faq ¥ GUR B



Question Number : 55 Question Id : 780681355 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Insulation resistance of A cable can be measured by

Options :

1. ¥ Ammeter

2. # Volt meter

3. * ohm meter

4. ¥ Megger

Question Number : 55 Question Id : 780681355 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

U $ad B SYAH TfaRIY fbads gRT AT ST Tehall 82
Options :

1. % TR
2. % giee Hiex
3. % i Hler
4. ¢ TR

Question Number : 56 Question Id : 780681356 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Volt meter has to be connected in ....... With phases

Options :

1. # Series

2. ¥ Parallel

3. % Both

4. * None

Question Number : 56 Question Id : 780681356 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

diec HieX &1 ... . H ST 8N | TRON & 1Y
Options :

1. % el

2. ¢ JHMIR

3. % gl

4. % PIg el

Question Number : 57 Question Id : 780681357 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
The approx. Current rating of a 35sq.mm Copper conductor cable is



Options :

1. #® Upto 50A
2. ¥ 110A

3. % 220A

4. % 440A

Question Number : 57 Question Id : 780681357 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T, 35 T T HIIR HSaeR Had bl gaqM AT g
Options :

1. ® 50ATH

2. ¥ 1100

3. % 2200

4. % 440T

Question Number : 58 Question Id : 780681358 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the maximum acceptable limit of earth pit resistance

Options :

1. # upto 0.5 ohm

2. % 1to 5 ohm

3. % 50 to 100 ohm

4. % 1 Mega ohm

Question Number : 58 Question Id : 780681358 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

31} e uferly & sifedH Terd JHT T 82

Options :

1. % 0.5 A dD
2.¢ 195 3H
3. % 509 100 31F
4, % | T 3

Question Number : 59 Question Id : 780681359 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Electrical shock intensity is based on

Options :

1. ® Flow of voltage and duration of flow

2. % Flow of current and duration of flow



3. # both of them
4. % None of them

Question Number : 59 Question Id : 780681359 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faqgd HTard & cfiedr IR Semid §
Options :

1. % gicesl &1 YdTg 3R UaTg & 3fafy
2.+ YR H1 A8 3R JaTg Pt 3afd
3. % g gl

4. % A G Pig W T8

Question Number : 60 Question Id : 780681360 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the total resistance in series circuit

Options :

1. ¥ RI+R2+R3 ...........

2. % RIxR2xR3 .......

3. % 1/R1+ 1/R2+/R3....

4, % (RI*R2*R3)/(R1+R2+R3)

Question Number : 60 Question Id : 780681360 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

goft uRuy & a1 ufaRlY fd= grar g2
Options :

1. ¥ RI+R24+R3 ...........

2. % R1xR2xR3 .......

3. #¥ [/R1+ 1/R2+/R3....

4. % (R1*R2*R3)/(R1+R2+R3)

Question Number : 61 Question Id : 780681361 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Units of power

Options :

1. # Volts

2. ¥ Watts

3. % Amps

4. % Ohm



Question Number : 61 Question Id : 780681361 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

EERIGAECIER]
Options :

1. #® Volts

2. ¥ Watts

3. % Amps

4. ¥ Ohm

Question Number : 62 Question Id : 780681362 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Energy can be store in

Options :

1. # Inductors

2. # Resistors

3. # Capacitors

4. % Aand C

Question Number : 62 Question Id : 780681362 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Sl BT HSRUI fohaT S T el &
Options :

1. % PardD

2. % g

3. % guiiA

4. S TIAR

Question Number : 63 Question Id : 780681363 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the cooling system used for transformers

Options :

1. # Water cooling

2. % Air cooling

3. % 0Oil Cooling

4. ¥ All

Question Number : 63 Question Id : 780681363 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SIRIBTHR & e Uged <ftaa womel o1 82



Options :

1. % U &t Hag 9 381 HRA dTa SUHRU]
2. % gal &Sl HAl

3. % qd eI Al

4, « gut

Question Number : 64 Question Id : 780681364 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is prime mover used in Generator set:

Options :

1. ¥ Alternator

2. ¥ Engine

3. ¥ Motor

4. % Pump

Question Number : 64 Question Id : 780681364 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SFReR ¥ H Ugad WIgH gk 1 8
Options :

1. % 3fafdx

2. ¥ goH

3. % WX

4. % U

Question Number : 65 Question Id : 780681365 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a Phase system what do you mean by phase voltage

Options :

1. ¥ Voltage available between two phases

2. ¥ Voltage available between Phase and neutral

3. % gandb
4. % All

Question Number : 65 Question Id : 780681365 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TS TRUT YU H aR0T dlecsl ¥ STAHT T didd g7
Options :

1. % g1 RN & o9 dlecs IUTS §

2. ¢ TR 3R I & &9 dleco JUTH &




3. % TR
4. % gt

Question Number : 66 Question Id : 780681366 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Transformer are rated in

Options :

1. ¥ KVA

2. ¥ KW

3. % KVAR

4. % All

Question Number : 66 Question Id : 780681366 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SRR AT §
Options :

1. ¥ 6Hdly

2. % fopdiare

3. % HATIR
4. % gut

Question Number : 67 Question Id : 780681367 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Rating of Domestic Fuse depends on

Options :

1. # Load current

2. # Load Voltage

3. % Watt

4. % aandc

Question Number : 67 Question Id : 780681367 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

N 1S BT R et @

Options :

1. % YR faorelt
2. % I8 dlecs
3. % dIc

4.« QAR



Question Number : 68 Question Id : 780681368 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Speed of a motor can be controlled by

Options :

1. ® Frequency

2. # Voltage

3. % Rotor Resistance

4. % All

Question Number : 68 Question Id : 780681368 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Hex o1 Tfd 1 fhaes gRT Ffad fvar S gear g2
Options :

1. % 3gfa

2. ¥ Gieedl

3. % e Uiy

4.« gt

Question Number : 69 Question Id : 780681369 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Electrical installation in underground mine shall be in

Options :

1. # Any where

2. ® return airways

3. ¥ Intake airways
4. % Travelling Road

Question Number : 69 Question Id : 780681369 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YT @am d faggd RIAr grft

Options :

1. % gl I

2. % U IgHET
3. « 4G arRgHNT

4. % gET AN

Question Number : 70 Question Id : 780681370 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
Which type of water is used in electrolyte?



Options :

1. ® Ordinary water
2. ¥ Distilled water
3. % Coolant

4. % Ro water

Question Number : 70 Question Id : 780681370 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

gadcIarge H fhd UHR &1 Ut UaNT faa STt 82

Options :

1. % YR U=
2. % 3Id oidd
3. % gfide®

4. % JR3NTUF

Question Number : 71 Question Id : 780681371 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Rating of Insulating tape depends on

Options :

1. ® Power

2. # current

3. ¥ voltage

4. % Resistance

Question Number : 71 Question Id : 780681371 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

AT 20 AR s IR PRk e
Options :

1. % Qferd

2. % HSEl

3. ¢ dlecol

4. % iRy

Question Number : 72 Question Id : 780681372 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which was filled in cable entry boxes of underground electrical installations

Options :

1. ¥ Bitumen

2. % Rubber



3. ® Lead
4. % Sand

Question Number : 72 Question Id : 780681372 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

St yffTd faggd TSI & Fad UC! Siad H 4R g Ul

Options :

1. ¢ 3TpleC
2. ¥ dg

3. % A BT
4. % 3d

Question Number : 73 Question Id : 780681373 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of switchgear can be used in Degree-II underground mines

Options :

1. * Non Flameproof above

2. ¥ Flameproof

3. % Both

4. % None of above

Question Number : 73 Question Id : 780681373 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fedt-1n yferTd el # frg UeR & iR o1 Iuai foa S Tebdr 82
Options :

1. % SR IR Sararie
2. ¢ SAARIR

3. % gHl

4, % IWad | I Dl Al

Question Number : 74 Question Id : 780681374 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Live circuits shall be identified with

Options :

1. ¥ None contact voltage detectors

2. # Line testers

3. ® Multi meter

4. % Megger



Question Number : 74 Question Id : 780681374 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

AT3d gfdbe ot Ugar P S
Options :

1. ¢ BIs W) JUD dieco foeaex Tal
2. % e Udedh

3. % el HicR

4. % TR

Question Number : 75 Question Id : 780681375 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Soldering wire is an alloy of

Options :

1. ¥ Tin and lead

2. # silver and aluminum

3. ¥ copper

4. % ACSR

Question Number : 75 Question Id : 780681375 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

e IR feae! fHrsreng |2
Options :

1. ¢ fo7 3R I

2. % Fid} 3R TegHifad
3. % gia

4. % 3

Question Number : 76 Question Id : 780681376 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

After Isolating the main power in circuit the stored energy can be reduced to zero with the help of
Options :

1. # Battery

2. ® generator

3. % discharge earth stick

4. % None

Question Number : 76 Question Id : 780681376 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Tfhe § T Al B ST dR & SIe AURIT S0l B 39! TerIdl I YA a1 off Tl §




Options :

1. # gt

2. % GHD

3. ¢ fem o Rew

4. % DIS TRI

Question Number : 77 Question Id : 780681377 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Cause of a spark in circuit

Options :

1. ¥ Loose connection

2. % high voltage

3. ® High resistance

4. ¥ High power Factor

Question Number : 77 Question Id : 780681377 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

iche # MR &1 HRUT
Options :

1. ¢ I Gy

2. % I dlecol

3. % I YRy

4. % I o DR

Question Number : 78 Question Id : 780681378 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is required for electrical maintenance of a particular switch gear

Options :

1. # Circuit knowledge

2. # Training

3. # Safe operating procedure

4. % all of the above

Question Number : 78 Question Id : 780681378 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

foraft fa=iy o iR & fagga wavwma & fon a1 smawas® §

Options :

1. % gfche I
2. % yfyeor




3. % TRI&T ST ufhar
4. ¢ JWR B g

Question Number : 79 Question Id : 780681379 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What will happen if phase sequence of connection was changed in a 3 phase motor

Options :

1. ® No change

2. ¥ Direction of motor rotation will be changed

3. ¥ Motor will not run

4. % Motor will run with low speed

Question Number : 79 Question Id : 780681379 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

gfe 3 hel Al ¥ H-1aRM BT Ul ohH dad g1 ST al & gRTT?
Options :

1. % ®Is URadT Tel eldr @

2. ¢ HIR & YA DI =0 gaa &f St

3. % Tl Tl It

4. % Hiex HH A I I

Question Number : 80 Question Id : 780681380 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

All substations shall be provided with

Options :

1. % Single line diagram

2. % Electric shock treatment chart

3. # Firefighting system

4. ¥ All the above

Question Number : 80 Question Id : 780681380 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Gt FeReTHT 1 IAUTY UG bt Sl
Options :

1. % Uhd 341 39

2. % oI & SIcdh BT ITAR T

3. % SR Jurelt

4. ¢ IR gt




Part D

Section Id : 78068116
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 78068116
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 780681381 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which reports shall be maintained by an electrician

Options :

1. ¥ About all breakdowns and maintenance

2. % About only major maintenance

3. % About minor maintenance

4. #® Shutdown report

Question Number : 81 Question Id : 780681381 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

forerent RUIC T gaierdifia gRT it st

Options :

1. ¢ 9 9 ST 3R WA & IR |
2. % Do YHE IWRWE & IR |

3. % T WEREd &b IR H

4. % YESI3 RUc

Question Number : 82 Question Id : 780681382 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Signaling system voltage in degree III underground mines should be
Options :

1. #* Flameproof

2. ¥ Intrinsically safe

3. ¥ Low voltage

4. # Increased Safety



Question Number : 82 Question Id : 780681382 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YftrTd e & Rufei Ried &1 diees f&iit 1 g anfse

Options :

1. % SATRIE

2. ¢ 3fTdR® U I e
3. % HH dlecdl

4. % 91 g3 YRa

Question Number : 83 Question Id : 780681383 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The efficiency of D.C. Generator is

Options :

1. # 60% to 80%

2. % 70% to 80%

3. % 85% t0 95%

4. % 1

Question Number : 83 Question Id : 780681383 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

S TR B gemr s
Options :

1. % 60% T 80%

2. % 70% T 80%

3. ¥ 85% 9 95%

4. % 1

Question Number : 84 Question Id : 780681384 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of resistor is used for arc quenching protection in circuit breaker

Options :

1. % Varistors

2. # Sensistor

3. ®* Thermistor

4. % Light Dependent Resistor

Question Number : 84 Question Id : 780681384 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



Tfche SR T 3T A GRET & (o fhd UHR & S[aRIYE o1 SUTNT foba STl g2
Options :

1. ¢ INTRR

2. % IR

3. % yfifeex

4. % THIRI R AR gfeRiegs

Question Number : 85 Question Id : 780681385 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the Form factory KF for sinusoidal AC

Options :

1. %1

2.9 1.11

3. %222

4. % 4.44

Question Number : 85 Question Id : 780681385 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SgTagh g T & fo BT thadt KF 82
Options :

1. %1

2.¥ 1.11

3. %222

4. % 444

Question Number : 86 Question Id : 780681386 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the line voltage in 30 system if the phase voltage is 240V

Options :

1. % 380V

2. % 400V

3. ¥ 415V

4. % 440V

Question Number : 86 Question Id : 780681386 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

30 TOTTel & I Thot dlees 240 § A ATe dlecsl GHTT 2

Options :

1. ® 380V



2. % 400V
3. ¥ 415V
4. % 440V

Question Number : 87 Question Id : 780681387 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which formula is used to calculate the power of a DC circuit?

Options :

1. # Voltage X Time

2. % Current X Resistance

3. # Current X Voltage

4. % Voltage X Resistance

Question Number : 87 Question Id : 780681387 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SR ufuy o 2ifad o1 ToMHT 63 &1 1 9 /2
Options :

1. % diecs X 9HT

2. ¢ GAHH X UiRIY

3. % G X dlee

4. % gleeel X UfeRIY

Question Number : 88 Question Id : 780681388 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which Material is having negative temperature coefficient Property?

Options :

1. ¥ Mica

2. # Eureka

3. # Copper

4. # Magnine

Question Number : 88 Question Id : 780681388 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

for U B S0 ATaHT T[UNd T 0T BT 2

Options :

1. ¢ AP
2. % JIPI

3. % didm

4. % TR



Question Number : 89 Question Id : 780681389 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which Metal contains Iron as a major content?

Options :

1. * Brass Metal

2. # Bronze Metal

3. # Zinc Metal

4. % Ferrous Metal

Question Number : 89 Question Id : 780681389 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % diqa urg
2. % HIY YT
3. % SRl YUTg
4.« Ag UG

Question Number : 90 Question Id : 780681390 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the formula for dynamically induced emf

Options :

1. * BLV Volt

2. % BL sin@ volt

3. % BLV sin@ Volt

4. % BLV Cos@ Volt

Question Number : 90 Question Id : 780681390 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TRl U 9 URd STATE & o 3 R g2
Options :

1. #* BLV Volt

2. % BL sin@ volt

3. % BLV sin@ Volt

4. % BLV Cos@ Volt

Question Number : 91 Question Id : 780681391 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
What is the material of line insulator



Options :

1. ¥ Copper

2. % Aluminum

3. ¥ Porcelain clay
4. % Rubber

Question Number : 91 Question Id : 780681391 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T SRR Y T

Options :
1. % dlaT
2. % YogHi-ad
3. ¢ ORifeA &
4, % IR

Question Number : 92 Question Id : 780681392 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

R C oscillator uses

Options :

1. ¥ One RC combination

2. ¥ Two RC combination

3. ¥ At least 3RC combination

4. % Either A or B

Question Number : 92 Question Id : 780681392 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

R T SMferd 1 IyAIT fbar ST @

Options :

1. % U 3R] IS

2. % T IR HaoH

3. ¢ &HH Y HH 3RC FIIoH
4. % QIATATB

Question Number : 93 Question Id : 780681393 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

DC Shunt motors are commonly used in

Options :

1. # Trains

2. % Electric traction



3. * Elevators

4. ¥ Lathe Machines

Question Number : 93 Question Id : 780681393 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SRt 2 Hiex BT UTRT ITHAR R fHar Siar g
Options :

1. % ¢

2. % faggd deHuu

3. % Qfedex

4. Y ARA

Question Number : 94 Question Id : 780681394 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the pitch factor in full pitch winding

Options :

1.¥ 1

2. # More than 1

3. % Less than 1

4, % Zero

Question Number : 94 Question Id : 780681394 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

B g arefen o fira Thaer gar g2

Options :
1.¥ 1

2. % 19 3%
3.% 14PH

4. % g

Question Number : 95 Question Id : 780681395 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A half cycle average voltage of 12 V is equal to what rms voltage?

Options :

1. % 1333V

2.9 848V

3. % 18.84V

4. % 764V



Question Number : 95 Question Id : 780681395 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

12 V BT 31T Teh 3N dleedl fhd rms dlecsl & SRIER BidT 82
Options :

1. % 1333V

2.9 848V

3. % 1884V

4. % 764V

Question Number : 96 Question Id : 780681396 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In full wave rectifiers the current rating of each diode is ...... of the output DC current

Options :

1. # Equals

2. ¥ Half

3. % Double

4. * Three times

Question Number : 96 Question Id : 780681396 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

qof X1 fesedmR #, U SIS ®I URT I 3T3CYC ST URT &1
Options :

1. % SRR ghft

2. 3 gt

3. % QAT G

4. % T T RN

Question Number : 97 Question Id : 780681397 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The r.m.s. value of a sinusoidal AC current is equal to its value at an angle of .... Degrees.
Options :

1. % 90

2. % 60

3.9 45

4. % 30

Question Number : 97 Question Id : 780681397 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 90
2. % 60
3. ¥ 45
4. % 30

Question Number : 98 Question Id : 780681398 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the formula to calculate the slip speed of 30 squirrel cage induction motor

Options :

1. ¥ Nslip=Ns-Nr

2. # Nslip=Nr-Ns

3. ® Nslip=Ns-Nr/Nr

4. % Nslip=Ns-Nr/Ns

Question Number : 98 Question Id : 780681398 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3¢ Fll TUSRT drot DRUT Hiex Bt &y 71fd Bt TT0MT B 61 G 1 82
Options :

1. ¥ Nslip=Ns-Nr

2. % Nslip=Nr-Ns

3. #® Nslip=Ns-Nr/Nr

4. % Nslip=Ns-Nr/Ns

Question Number : 99 Question Id : 780681399 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the formula to calculate pitch factor

Options :

1. # Pitch factor=pole pitch/winding pitch

2. ¥ Pitch factor=winding pitch/pole pitch

3. # Pitch factor= no. of poles/ no. of slots

4. # Pitch factor= No. of poles/No. of slots

Question Number : 99 Question Id : 780681399 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. * g haer=uldl for/argfe fug
2. ¢ U Thaer=arsfen fom/aa fom




3. % Il Dl T/ Ui 1 T:AT
4. % U1 P! YBATAC DI T

Question Number : 100 Question Id : 780681400 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which device is used to test for stator winding short & open fault

Options :

1. # Tong tester

2. ¥ Internal crrowler

3. ¥ External crrowler

4. % Digital multimeter

Question Number : 100 Question Id : 780681400 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
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Options :

]. % AT TR

2. ¢ 3ARP TR

3. % geg ISR

4. % f&fored AdiHieRr



